CIELABNG triangle lightness T*

nc—- W

T* nc=100,

T*\(3,6)=23,T* ,(18)=50, T*/(90)=96

T*9=96,01,y=3,0, 11/—1/3 0=0,33
T*15=49,71 49 D=-15,47
TH 22,551, _49 71 V=18

T*,=49,71 m;=50,02

application
range

Y,=18
Yw=90

Yn=3.6

CIELABN6
tristimulus value difference

YaceL*w - ne=100,

log(dY) = (1/3,0) log[3,0¢,/115)] + [1-(1/3,0)] logY)

-

-

* =50, dY,=4,6Q dY,/Y,=0,2555
log(dY)=4,60 m,=0,66 .
-
e

dY90—13 45 V=3,0" ,/—1/3 0=0,33
dY;g=4,60 =" Dy=-15,4Y
dv3b_1 sa v 1oq d\q =4,60 '

1v,=18
1 Yw=90

application
range

Ya23.6
log (AY/Y)
S=(AY/Y)

CIELABN6
tristimulus value sensitivity
YoemL*w - =100,
T* ClELABRG =116 (Y/Y,) 3 0-16  (¥,=100, ¥, o/100<Y<=Y,)
log(dY/Y) = log[3,0(Y,/115)] - (1/3,0) log{/Y,)

= (1/3,0) log[3,0¢,/115)] - (1/3,0) log¥)

Sk

= application
*,=50, dY,=4,60 dY,/Y,=0,2555 1

~.range

1
(dY/Yy5=0,1494=3,0, 14=1/3,0=0,33
(dY/Y)§=0,2555 S=115,49 D,=+15,49
(dY/Y},=0,4361 Y,=100 dY=4,60

1y,=18
v

Yn=3.6

log (Y/AY)
C,=(Y/AY)

CIELABN6

tristimulus value contrast
Y=L w nc=100,

T* ciELABnG =116 (YY) Y3216 (¥,=100,¥,/100<Y<=Y,)
log(Y/dY)= - log[3,0(,/115)] + (1/3,0) log{/Y,,)

= - (1/3,0) log[3,0¢,/115)] + (1/3,0) logY)

1
(Y/dY}y5=6,69,y=3,0, 14=1/3,0=9,33
(Y/dY)g=3,91, §=115,49 D,=-15,49 application
(Y/dY} 2,29 Y,=100 d¥=4,6a  range

17,=18
Yw=90

Yn=3.6

T* CiELABnG =116 (YY) 3016 (14=100,Y,d/100Y<=Y,)

T* CiELABRG =116 (Y/Y,) 3 0-16  (¥,=100, ¥, o/100<Y<=Y, )

T CIELABNG relative triangle lightness T*/T*,
Yno=L*
THT* u nc w

nc=100,

T* CiELABNG =116 (V/Yp) Y30-16  (V;=100,Y,d/1002Y<=Y, o
T¢(3,6)=23,T* ,(18)=50,T*\(90)=96

T* odT*=1.93, y—30 11/—1/3 0=0,53
18/ ,00 49 D=-1%,29 ¢
TG =0,45.1,; -49 71 Y15 2

application
range
v,=18

Yy=90

T*/T* J=1, m=-0,33"
L*,=49, T*,=50

Y236
log(AY/AY,)
AYIAY,

CIELABNG relative
tristimulus value difference
Yoe=L*w ~ ne=100,

T* CiELABNG =116 (/Yp) Y30-16 (Y7100, Y,d/1002Y<=Y, )
log(dY/dY,) = [1-(1/3,0)] loglf/Y,)

dYogdY,=2:82=3.0, 14=1/3,0-0.33
dY;gdY,= 49 D,=-15,49
dY3 Y, =0 34 Y- 1oq dY=4,60
*,=50, dY,=4,6Q dY,/Y,=0,2555
log[(dY)(dY),]=0, m;=0,66
-

-

.
.

-

.
-
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1 application
1 range
1y,=18

Yy =90

YN=3.6

log [AYY) I (AYIY),]
SSu=OYN)AYIY),

CIELABNG relative
tistimulus value sensitivity
Yoc=L*w « -nc=100,

T* CiELABNG =116 (V/Yp) Y30-16  (V;=100,Y,d/1002Y<=Y, o
logl(dYMI(AYM),] = - (1/3,0) log/Y,)

(dY/Y)o/(dY/Y)=0,58,y=
(dY/Y)g/(dY/Y,
(dY/IYy J(dYIY)=

=3,0, 14=1/3,0=0,33
=1,00 S,: 15,49 D;=-15,49
1,70 Y,=10Q d¥‘_4’6%{|-3plication

=

-~
log[(dY/YY(dY/Y),]=0, m/=-0,33
*,=50, dY,=4,60 dY,/Y,=0,2555 }

1y =18
Y=90

YN=3.6

log [(Y/AY) I (YIAY),] CIELABNG relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T* CiELABNG =116 (V/Yp) Y30-16  (V;=100,Y,d/100<Y<=Y, o
logI(Y/dY)/(Y/dY),] = (1/3,0) loglY/Y,)

(Y/dY}/(Y/dY)=1,70,y=3,0, 1§=1/3,0=0,33
(Y/dY)g/(Y/dY)=1,0Q S=115,49 D,=—15,49
(Y/dY} g(Y/dY)=0,58 Y,=100 d¥=4,60

log[(Y/dYY(Y/dY)J=0, m,=0,33

=

-
=

application
range

Y,=18
Yw=90

YN=3.6




